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01. 000006000 array[6)|0 00000
goooooo

int array[6] = {13, 2, 3, 5, 7,11}
gdooooooouooobooooooodo
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s gooo ~

array[0] = 11
array[1] = 7
array[2] = 5
array[3] = 3
array[4] = 2
array[5] = 13
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04. 000008000 array[8] 000000
oooooon

int array[8] = {1, 3, 5, 7, 9,11, 13, 15 };
000000000000000000000
00000000000000000
~0000 ~

array[ 0]= 1
array[ 1]= 3
array[ 2]= 5
array[ 3]=7
array[ 4]= 9
array[ 5]=11
array[ 6]=13
array[ 7]=15

array[ 0]= 3
array[ 1]= 5
array[ 2]=7
array[ 3]= 9
array[ 4]=11
array[ 5]=13
array[ 6]=15

array[ 7]= 1
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06 0500000000000000
test[2][5) 0000000000000
test[2][5]={ {80, 60, 22, 50, 75}, 000000
O {90, 55, 68, 72, 58} };

000 Otest[0][e] 0 000000 OOOOOO
test[1][e] 0 « 00 0000000000000
000000000000000000000
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g7 00000000000

char str[ |="evian”;
goopboboobbbboboodooooooon
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08 OO0
char str[ |="Hello Goodbye”; D0 O0O0000OO
0000000 for(i=0; strfi] '="\0"; i++) OO
Ooooogoo

oooOd
[Hello Goodbye IO U0 13000 ]

09. 00000000000
char str[12][10)={"007,°007,"007,7007,
|:||:|DDD??D|:|77"7|:||:||:|77’77|:|D77’77DD77’
|:|DDDD??DD??)??DDDW’77|:|D77’77DD77 };
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010. 0000000 rOoobooboon 011. 00 num[3]3| 0000000000
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(60000)000O00O0OO0OOoDDOoOoooooOo
num[0] [0]=4;

oo [0] [1]=9
num =9,

~ Ui A num [0] [2]=2;
Ooo0ooo0oOoOooon num[1] [0]=3;
100065 num[1] [1]=5;
200073 num[1] [2]=7;
300029 num[2] [0]=8;
4000835 num[2] [1]=1;
5000098 num[2] [2]=6;
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300650 492
400600 357
500510 816
600350
700290
000040000




